
SKU: U6165

Power up the servo before installation 
to make sure the default position of 
the servo.

Servo×2 Servo Horn×2 Silver Screw×5 Silver Nut×5

M3*4 Screw×10

Hex Socket Screw×8

Miniature Ball Bearing×1

M4*9 Screw×4 Black Nut×4

M2.5*18 Screw×4 M2.5*4 Screw×4

Main Bracket×1

U-shaped Servo Bracket×1 Base Bracket×1

Aluminum Alloy Case×1 Thermal Conductive Pad×4

Multi-function Servo Bracket×1 Fan×1

1

1

1

2

2

2

7 8

7

7

8

13

13

13

14

14

3

3

4

4

9

9

10

10

15 16

185

5

6

6

11

11

12

12

17

17

18

18

���� � ����� �� � � ����� �� � ��

��� � ��� �� � � � ��� � ��� �� � � � ��� � ��� �� � � �

NOT INCLUDED

10
3

10
3

10
3

15
2

10
3 103

103

10
3 103

Servo VCC

G
N

D

G
N

D

SCL
SDA

Pan

Controller Board for 
PTZ Camera moudle

Tilt

5V Power Red
BlackGround

Connect fan to your Pi.

15

16



� � ��

� � ��

� � ��

� � ��

� � ��

� � ��

� � ��

� � ��

1

2

9

10

11

12

3

4

13

5

6

14

7

8

Connect 12 13 14

Stick        to your Pi8

Use        to fix  11 2 4

Use        to fix  10 7 9

Use        to fix  17 6 7

Use        to fix  18 3 6

Insert fan wire to PiPut       to 9 7

Use        to fix  11 2 5

Use               to fix  15 16 1 3

Use               to fix  13 14 1 4

Insert        to 12

Insert        to 12

Insert        to 31

Insert Pi to 3

2Mount        to 11

2Mount        to 11


